IPCE (New Syllabus)

Paper -3 _ '.
RolINo. .. sct giitf Mariagement Accounting ~ b NOV 2020
1
Total No. of Questions — 6 Total No. of Printed Pages — 24
Time Allowed — 3 Hours Maximum Marks — 100

WMG -H

Answers to questions are to be given only in English except in the case of candidates who
have opted for Hindi Medium. If a candidate who has not opted for Hindi Medium,

his/her answers in Hindi will not be valued.

Question No. 1 is compulsory.

Answer any four questions from the remaining five questions.

Working notes should form part of the answers.

Marks

1.  Answer the following : 4x5
’ =20

(@) G Ltd. manufactures a single product for which market demand exists
for additional quantity. Present sales of ¥ 6,00,000 utilises only 60%

capacity of the plant. The following data are available :

(1) Selling price . ¥ 100 per unit
(2) Variable cost : ¥ 30 per unit

(3) Semi-variable expenses : ¥ 60,000 fixed + ¥ 5 per umit

(4) Fixed expenses - ¥ 1,00,000 at present level,
estimated to increase by 25% at
and above 80% capacity.

You are required to prepare a flexible budget so as to artive at the

operating profit at 60%, 80% and [00% levels.

WMG-H P.T.O.
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(b) Moon Ltd. produces products ‘X’, ‘Y’ and ‘Z’ and has decided to
analyse it’s production mix in respect of these three products — ‘X,
‘Y’ and ‘Z’.
You have the following information :

X Y Z
Direct Materials T (per unit) 160 120 80
Variable Overheads ¥ (per unit) 8 20 12

Direct labour :

Hours Hours Hours
Departments : Rate per per unit per unit per unit

hour (%)

X Y y/
Department-A 4 6 10 5
Department-B 8 6 15 11
From the current budget, further details are as below :

X Y Z

Annual Production at present 10,000 12,000 | 20,000
(in units)
Estimated Selling Price per unit (%) 312 400 240

Sales departments estimate of| 12,000 16,000 | 24,000
possible sales in the coming year
(in units)

There is a constraint on supply of labour in Department-A and its
manpower cannot be increased beyond its present level.

Required :
(i) Identify the best possible product mix of Moon Ltd.

(i) Calculate the total contribution from the best possible product
mix.

WMG-H
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(c) A company’s plant processes 6,750 units of a raw material in a month
to produce two products ‘M’ and ‘N’.

The process yield is as under :

Product M 80%
Product N 12%
Process Loss 8%

The cost of raw material is ¥ 80 per unit.

Processing cost is ¥ 2,25,000 of which labour cost is accounted for
66%. Labour is chargeable to products ‘M’ and ‘N’ in the ratio of
100 : 80.

Prepare a Comprehensive Cost Statement for each product showing :
(i) Apportionment of joint cost among products ‘M’ and ‘N’ and
(ii) Total cost of the products ‘M’ and ‘N’.

(d) W Limited undertook a contract for ¥ 5,00,000 on 1% July, 2019. On

30" June, 2020 when the accounts were closed, the following details
about the contract were gathered :

Amount (})
Materials purchased 1,00,000
Wages paid 45,000
General expenses 10,000
Materials on hand (30-6-2020) 25,000
Wages accrued (30-6-2020) 5,000
Work certified 2,00,000
Cash received 1,50,000
Work uncertified 15,000
WMG-H P.T.O.
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The above contract contained “Escalation clause” which read as follows :

“In the event of increase in the prices of materials and rates of wages
by more than 5%, the contract price would be increased accordingly by
25% of the rise in the cost of materials and wages beyond 5% in each
case.”

It was found that since the date of signing the agreement, the prices of

materials and wage rates increased by 25%. The value of the work

certified does not take into account the effect of the above clause.

Calculate the ‘value of work certified’ after taking the effect of

‘Escalation Clause’ as on 30" June, 2020.

(a) X Ltd. manufactures two types of pens ‘Super Pen’ and ‘Normal Pen’. 10
The cost data for the year ended 30™ September, 2019 is as follows :

()
Direct Materials 8,00,000
Direct Wages 4,48,000
‘Production Overhead 1,92,000
Total 14,40,000

It is further ascertained that :

(1) Direct materials cost in Super Pen was twice as much of direct

material in Normal Pen.
(2) Direct wages for Normal Pen were 60% of those for Super Pen.
(3) Production vverhead per unit was at same rate for both the types.
(4) Administration overhead was 200% of direct labour for each.

WMG-H
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(5) Selling cost was ¥ 1 per Super pen.

(6) Production and sales during the year were as follow :

Production Sales
No. of units No. of units
Super Pen 40,000 Super Pen 36,000
Normal Pen 1,20,000

(7) Selling price was ¥ 30 per unit for Super Pen.

Prepare a Cost Sheet for ‘Super Pen’ showing :

(i) Cost per unit and Total Cost

(i) Profit per unit and Total Profit

(b)

details pertaining to which are as under :

TEE Ltd. is a manufacturing company having three production
departments ‘P’, ‘Q’ and ‘R’ and two service departments ‘X’ and ‘Y’

© The Institute of Chartered Accountants of India

P Q R X Y
Direct wages (%) 5,000 | 1,500 | 4,500 | 2,000 | 800
Working hours 13,191 | 7,598 | 14,995 - -
Value of machine () | 1,00,000 | 80,000 | 1,00,000 | 20,000 |50,000
H.P. of machines 100 80 100 20 50
Light points (Nos.) 20 10 15 5 10
Floor space (sq. ft.) 2,000 | 2,500 | 3,500 1,000 | 1,000

WMG-H
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The, expenses are as follows :

(6)

WMG-H

©
Rent and Rates 10,000
General Lighting 600
Indirect Wages 3,450
Power 3,500
Depreciation on Machines 70,000
Sundries (apportionment on the basis of direct wages) | 13,800

The expenses of Service Departments are allocated as under :

P Q R X Y
X [45% [15% [30% | - |10%
Y |35% [25% [30% |10% | -

Product ‘A’ is processed for manufacture in Departments P, Q and R

for 6, 5 and 2 hours respectively.

Direct Costs of Product A are :

Direct material cost is ¥ 65 per unit and Direct labour cost is ¥ 40 per

unit.

You are Required to :

(i) Prepare a statement showing distribution of overheads among the

production and service departments.

(i) Calculate recovery rate per hour of each production department

after redistributing the service departments costs.

(i) Find out the Total Cost of a ‘Product A’.

© The Institute of Chartered Accountants of India
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(a) ABC Ltd. has furnished the following information regarding the

overheads for the month of June 2020 :

(1)
(ii)
(iif)
(iv)
v)

Fixed Overhead Cost Variance < 2,800 (Adverse)
Fixed Overhead Volume Variance % 2,000 (Adverse)
Budgeted Hours for June, 2020 2,400 hours

Budgeted Overheads for June,2020 T 12,000

Actual rate of recovery of overheads T 8 Per Hour

From the above given information

Calculate :

(D
@
€)
4
%)
(6)

Fixed Overhead Expenditure Variance
Actual Overheads Incurred

Actual Hours for Actual Production
Fixed Overhead Capacity Variance
Standard hours for Actual Production

Fixed Overhead Efficiency Variance

(b) An automobile company purchases 27,000 spare parts for its annual

requirements. The cost per order is ¥ 240 and the annual carrying cost

of average inventory is 12.5%. Each spare part costs ¥ 50.

At present, the order size is 3,000 spare parts.

(Assume that number of days in a year = 360 days)

WMG-H
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Find out :

(i) How much the company's cost would be saved by opting EOQ
model ?

(ii) The Re-order point under EOQ model if lead time is 12 days.

(iii) How frequently should orders for procurement be placed under
EOQ model ?

Following details are related to the work done in Process-I by ABC 10
Ltd. during the month of May 2019 :

()
Opening work in process (3,000 units)
Materials ' 1,80,500
Labour 32,400
Overheads 90,000

Materials introduced in Process-I (42,000 units) 36,04,000

Labour 4,50,000
Overheads ‘ 15,18,000
Units Scrapped : 4,800 units

Degree of completion :

Materials : 100%
Labour & overhead : 70%
Closing Work-in-process : 4,200 units

Degree of completion :
Materials : 100%
Labbur & overhead : 50%

WMG-H
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Units finished and transferred to Process-1I : 36,000 units

Normal loss :
4% of total input including opening work-in-process
Scrapped units fetch ¥ 62.50 per piece.

Prepare :

(i)

Statement of equivalent production.

(i) Statement of cost per equivalent unit.

(i) Process-I1 A/c

(iv) Normal Loss Account and

(v) Abnormal Loss Account

(b) Following are the particulars of two workers ‘R’ and ‘S’ for a month :

Particulars R S
(1)  Basic Wages (%) 15,000 | 30,000
(i1))  Dearness Allowance 50% 50%
(ii1)  Contribution to EPF (on basic wages) 7% 7.5%
(iv) Contribution to ESI (on basic wages) 2% 2%
(v)  Overtime (hours) 20 -

The normal working hours for the month are 200 hrs. Overtime is paid
at double the total of normal wages and dearness allowance.

Employer’s contribution to State Insurance and Provident Fund are at

equal rates with employees' contributions.

WMG-H
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Both workers were employed on jobs A, B and C in the following

proportions :
Jobs A B C
R 75% 10% 15%
S 40% 20% 40%

Overtime was done on job ‘A’.
You are required to :
(i) Calculate ordinary wage rate per hour of ‘R’ and ‘S’.

(i) Allocate the worker's cost to each job ‘A’, ‘B’ and ‘C’.

(c) Discuss any four objectives of ‘Time keeping’ in relation to 4

attendance and payroll procedures.

(a) SEZ Ltd. built a 120 km. long highway and now operates a toll road to 10
collect tolls. The company has invested ¥ 900 crore to build the road
and has estimated that a total of 120 crore vehicles will be using the
highway during the 10 years toll collection tenure. The other costs for
the month of “June 2020” are as follows :

(1) Salary:
® Collection personncl (3 shifts and 5 persons per shift) —
< 200 per day per person.

®  Supervisor (3 shifls and 2 persons per shift) — ¥ 350 per day
per person.

®  Security personnel (2 shifts and 2 persons per shift) — ¥ 200
per day per person.

® Toll Booth Manager (3 shifts and 1 person per shift) —
< 500 per day per person.

WMG-H
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(i) Electricity — ¥ 1,50,000
(iii)) Telephone — X 1,00,000
(iv) Maintenance cost — ¥ 50 lakhs
(v) The company needs 30% profit over total cost.
Requiréd 5
(1) Calculate cost per kilometre.

(2) Calculate the toll rate per vehicle.

ABC Ltd. is engaged in production of three types of Fruit Juices :

Apple, Orange and Mixed Fruit.

The following cost data for the month of March 2020 are as under :

Particulars Apple | Orange | Mixed Fruit
Units produced and sold 10,000 | 15,000 20,000
Material per unit (%) 8 6 5
Direct Labour per unit (%) 5 4 3
No. of Purchase Orders 34 32 | 14
No. of Deliveries 110 64 52
Si'lclf Stocking Hours 110 160 170

Overheads incurred by the company during the month are as under :

()
Ordering costs 64,000
Delivery costs 1,58,200
Shelf Stocking costs 87,560
WMG-H
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Required :
(i) Calculate cost driver’s rate.

(ii) Calculate total cost of each product using Activity Based

Costing.
(c) Describe the various levels of activities under ‘ABC’ methodology. 4
Answer any four of the following : 4x5

(a) Differentiate between “Cost Accounting and Management Accounting”. =20

(b) What are the important points an organization should consider if it
~ wants to adopt Performance Budgeting ?

(¢) Explain what are the pre-requisites of integrated accounting.

(d) State the Method of Costing to be used in the following industries :
(i)  Real Estate
(i)  Motor repairing workshop
(iii) Chemical Industry
(iv) Transport service
(v) Assembly of bicycles
(vi) Biscuits manufacturing Industry
(vii) Power supply Companies
(viii) Car manufacturing Industry
(ix) Cement Industry

(x)  Printing Press

(¢) Differentiate between “Marginal and Absorption Costing”.

WMG-H
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(Hindi Version)

37 R i Brew e e wiem T 8, Jwi % ST ke SRS A A A | |
5 e e fird mem =€ g 8, R D Fm g, A sws R A f@®
Il <l TR A /0 |
o e 1 AfEE R |
Iy utg st § & el = Il 3 ST AR |
1 feufrt (Working Notes) IR 3 HIT B =1eT |

Marks

1. frafatea s sw R 4x5
=20

@ St fftiRe it wwet Iearg 1 fmior st @ Foren forg anferfert =
£ IR ThT § IueTeud 2 | SauH ¥ T 6,00,000, HEA 60% FIF

ST 1 TN Bl @ | Freiferfaa e Sueeu B -

(1) fosra e : 100 9 318

(2) vftEdsfia @ ;%30 9fa gbtd

(3) FE-TRadfe e % 60,000 TR + T 5 T 3T

(4) wrht=E : % 1,00,000 FAHE T H, 80% H
1 IeW s wEaAr § 25%
wRTadl TATE 2 |

3R 3t & R 60%, 80% 3 100% Y FHATIHT o =GR TIE
(Flexible budget) 1 fmior SRR, qTfes 37 IR T (Operating
Profit) eh TgdT 911 & |

WMG-H P.T.O.

©, The Institute of Chartered Accountants of India



(14)
WMG-H Marks

(b) T feafies Iaame X, v’ @ik 22w fmior et € 3k seares s

B AT < IeTEt X, Y2 3R 7z 1 FyeNetor e ST € |
3eh ure faferfaa qeamd § -

X Y 1z
were qmft 2 (ufy ) 160 120 80
gfterdaeiicr suftea ¢ (wfs®ws) 8 20 12
B[ =5 I 1
Ee Er;iséﬁr ey wue ufy
T ) TR TR
X Y V4
frvmr-A 4 6 10 5
fawmr-B 8 6 15 11
A FE & Fe # e e suery & -
X Y y/
A 1k IeqTe (SHTE) 10,000 | 12,000 | 20,000
rgATa forsha ge w5678 () 312 | 400 | 240

foska fawm grr srgaTia o e ast # | 12,000 | 16,000 | 24,000
gTfer farshe gots

fomT-A T 3w Y Srgfd o) amear 2 SR T aw wife adwE =
o ST TEY wgrll o Tt & |

anuféa ® :
() W ferfires o wdarss g Seare fivsror Y weefe |

(ii) 9SS WA SeaTe s & e Si9eH (total contribution) =
o1 IR |

WMG-H
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TS FE T G4 Th A8 H 6,750 THTE Bt Gt K whRan = M
3R N’ 7% ) IS} <hT IcdTE e € |

PIERIR L] (Process yield) freea g :

IATE (M) 80%

I1G (N) 12%

sk gfd 8%

o= gt <hl SRTA T 80 Jfd TS 2 |

w3 ) @ T 2,25,000 1 ¥, Rt sm @ 0 66% R |
IeTg M* 3T N’ T 97 T THR 100 : 80 3 SIAH 2 |

Tk IeATG, B Toh Ty ST feraor o shifrg -

(i) Y AT BT TG ‘M’ 3R ‘N’ H STIHEH HIWC |

(i) I ‘M’ IR N’ & Tt AN ¥ TUMAT KT |

‘W fafires 3 1 IS, 2019 i ¥ 5,00,000 1 TH 3HI A | 30 5,
2020 ! & WA g §U, 3 & FaY & Fred gemmd 3ucTey o :

TR
|l 1 1,00,000
LR 45,000
A =3 10,000
It §19 W (30-6-2020) 25,000
SuTfife F9Ed (Accrued) (30-6-2020) 5,000
ST PRl 2,00,000
T UhS 1,50,000
AT e 15,000

WMG-H
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Y IHT qﬁg’ d19] (“Escalation Clause”) YOI fru %, EIREt=Cl
TGT AT 8 :
“5% ¥ 3t gl % qew 3R STt Y <X A s B ) g &,
5% ® i A q¢ ge amft 6 A 3R awed F 25% @ 3
el H Seradt shi et |”
Tsitar s=mer Y T 6 @l % ¢ 319 a% a8 v T £ gl %
oA 3R A9el W H 25% H TP g8} | @il # Iwlied w1
“THITO ST o o B <hs I TE1 @1 4T |
30 S[H, 2020 I Qﬁ;’ dTe (Escalation clause) & 9 | 3T * 9Iq
“THTIOT ST ok T <hl U SHITT |

() Xfafes gu A’ ot e i AyER F M s w2 130 10
e, 2019 = THE B T ¥ 3 foTu T SttRR e

®
TIE qrEfl 8,00,000
ST gl 4,48,000
I U 1,92,000
L& 14,40,000
Ffarfers <@ = et & 16 -
(1) gR W & TI5 IEft ara T O yw gl e 8

QIR |
(2) T U Y TeaE WG S foh G U B Horel B 60% B |

(3) QI R 3] 3cTe STNeTd 9 <t 3ohTs gaT § |
(4) T & I yeEie Iufter e s w7 200% 2 )

WMG-H
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(5) GRF N FIFE AL R |
(6) ¥ o N Ieure IR farsh f 2

Marks

ERICCH
AT 15

AT 3618

R A

40,000

o A

36,000

JHA U

1,20,000

(7) G U w2 30 wfa 3op18 i fesha e 2 |
R U % foTT AmTe Ioa dam hifvre 3 gurise
() e 3ohTE AT 3R FeA AT
(ii) T Jfd 3hTE 3R &I 1w
(b) ‘& fafiee’ Agdeaitn Fert % O Samed fawm P, @ MR 10
AT G B fomr <X qe <y’ 8, R geftn et = JeR R -

P Q R X Y
T 79 () 5,000 | 1,500 | 4,500 | 2,000 | 800
F1 F guL 13,191 | 7,598 | 14,995 - -
aefiHl 1 e (3) | 1,00,000 | 80,000 | 1,00,000 | 20,000 | 50,000
Wik gE uieR | 100 80 100 20 50
WY foeg (9.) 20 10 15 5 10
IR &5 @ $e) | 2,000 | 2,500 | 3,500 | 1,000 | 1,000

WMG-H P.T.O.
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T freferfea 8 -
(9]

frten wa gt 10,000

YT Tl 600

AYTY qa@ 3,450

wifea 3,500

T T BT 70,000

fafery (g worgt % smuR W) | 13,800
ga fawrT & =9 T yoer srmafed frusma

P Q R X Y

45% | 15% [30% | — |10%

Y |35% [25% [30% |10% | -

3R ‘A’ it fmtor & forw fesmmr p, Q 3t R & s 6, 5 qem 2 wwe &
e wfshara feram sman @

IS ‘A’ S II&T I @ -

TeIET HHIT ST T 65 Th TS 2 SR TeEt 9 AT % 40 Uil TS 2 |
T Fafdr & -

() o foremer St IcareH v Aan fowmt % Sufterat 1 fawor guiy |

(i) a1 fRTE < = 1 O9: oo quie gu yie Sare fawm &
TﬂK‘ﬁET (Recovery Rate)ﬁ@ﬁmﬁm |

(i) 3G <A’ Sl & AT T HIFAT |

WMG-H
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(a) ABC feafiree 3 3 2020 3q Ui o HeH gq A+ o1 e -

(b)

(i)
(ii)
(iif)
(iv)
v)

(19)
WMG-H

STt Jufterg ArTa foremo % 2,800 (feregeT)
it Jufte we fammm Z 2,000 (STTReT)
S, 2020 % foTQ siw1e fopw 7w goe 2,400 T0¢

S, 2020 % fore swte fpu My Iufem % 12,000

IR <l STt Y Jfesh % 8 Wi &roe

ST FEATSAT o YR T ITUAT HIT :

(D
2
3)
4)
)
(6)

T ATl HiaTge HH1 A anfier sraverhar 3 27,000 TRR URH
I AT § | TAD IMEW h AT T 240 3R 3NFa & I Tia I8

wrrRft Iuftery = fomm

T ITNEAT Y TOFT

ATRIfeh IeaTe o fore arafash =
Tl Juftery & fe=ror

AT IcaTeH o oY AT T
TTf IUNe™ Herear fa=o

I TS TS AR 12.5% & | Telish TR I 1 AR X 50 2 |
AU H, TSI WA 3,000 TR UG AT 2 |
(T oY o FrgATiE fom = 360 fom)

WMG-H
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T SHITTT

(i) EOQ HTES! Bl YT L Fra faft AvTa &t S9q S ahet & 7
(ii) Eonﬁ%mﬁang Few famg it o Hifsre afe g

FTEY §HY (lead time) 12 AR |

(iii)y EOQ 3™l & 3F=mia YA: W 3MYfet AW A Ty iy

FATIT |

(a) W% 2019 ¥ W& & €N ABC fifiee gra w1 § fve e wrtf @

Tt feraqwor frm PR 2
)
yRfR famtomefia ®rf (3,000 s
Tt 1,80,500
g9 32,400
Il 90,000
WisRaT-1 (42,000 Feh1gan) ® frifera armfy | 36,04,000
I o 4,50,000
Ui 15,18,000
FER THEET ;4,800 TS
qufeT T W
qrft : 100%
o9 T RS : 70%
3ifaw Fmfonefim &= ;4,200 FobTEAl
qUTdT 1 &R
gt : 100%
g9 TF SIS ;. 50%

WMG-H
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0T B b SHISAT T NRT-11 & SN : 36,000 FHIEAT
T B -

SRR faie $rE afid S ST gohrgd 1 4% 2 |
Frafire st 2 62.50 f e TG FA R |
LTI

(i) TG 3eTEH 1 ferew@

(ii) el TG FhTE ST fereron

(iii) R @

(iv) T g @ an

(v) STEME g @ren

(b) ‘R’ 3N S’ G AIGY 1 Teh ATE i frawor foymfarer 2 - 6

o R S

(@) | 71 "ol (%) 15,000 | 30,000

(ii) | wETE 50% | 50%

(iif) | wifers Fifer o e (et weiglht woaneia) | 7% | 7.5%

(iv) | st T s 7 el w1 ST 2% | 2%

(T Agdt o i)
(v) | arferaes (eme) 20 -

TTE o foTT Tl o WA= | 200 B | AR 1 AW A wergdt
3R TS T % A w1 QN B ¢ | TS A iR wfesy ffy
YATAIST T IVGH HHAR FHEH <l U % THH 2 |

WMG-H P.T.O.
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QT S % R A, B 3R ¢ & fm srgumai e 9
9" | A B C

R 75% 10% 15%

S 40% 20% 40%

T R e A’ WIFT T g |

3R Tfee @

() ‘R’ IR S’ % AW FAGH X H T0ET HRA |

(i) TAFHHE ‘A’, ‘B’ IR ‘C’ W ¥H ARG T 3TaA T |

(c) Iafeufd aem W 6t IfshaT & TEU § WY Yo’ (Time Keeping) % 4
forl o Sewal <ht ==t et |

(a) SEZ foifes 3w 120 foreft e Tomw ST Qo 3@ IEHT WM 44
e oA §U STEAT @ A THE R 3G TF et AT H Ferer
FAT 7 | FAE 7 geH » i & € 900 g w1 Faw e qen
AT T {6 10 AT 6t T Teherd T % A 120 FAS A8
TSTHT &1 ST i | “SiF 2020”7 % WEIR B 37 A0 it TR &

() o9

o  HUGY HUG (3 UTeH W 5 sufer wfer wredh) — T 200 Wiy RA
i safa | |

o UHIEF (3 UTSh Ue 2 =AfR Wfe areft) — ¥ 350 wik R wfx
e |

e I HHATY (2 TSt UG 2 SAfwT W reft) — 2 200 e R
g =3 |

o A Y VEYH (3 UTeh U 1 safad wier qreft) — T 500 9 fom
g =afe |

WMG-H
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(23)

WMG-H
(i) ot - 2 1,50,000
(i) SHBH - % 1,00,000
(iv) aqat&aﬁama—?sowa
(v) THFIHI Sl FeT AT W 30% TN hi JTE9THAT & |
uféa :
(1) <mTa g faft < mom |
) < g ufe e 6t or |

ABC feifiies 7 weR & et @ Seare d fm R
qa, Fau IR My ot -
T, 2020 ATE % AT Hfhe Frtae & -
Rraw ¥ o | B e

FH1E IqTfed TS farsha 10,000 | 15,000 20,000
et wfer 367é (%) 8 6 5.
Y38 o= Tfa 36 () 5 4 3
A TGN h T 34 32 14
forercott <t G 110 64 52
e W THE T 110 160 170
Hf g ATE % 3T=ia R e Suftery freaa 2

®)
3 H AT 64,000
feraror <Y wmma 1,58,200
HeWh HIS U8 AT 87,560

WMG-H
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HTIHATE
(i) TN =T S 3! TTUMT HIRTT |
(i) T IeqTE I TSI TUHT T H et TARTA <hl TVMET SHIfIT |

(c) ‘ABC gt 3 qga Tiafaftrt t S w1 aviq Hifvr | 4
6. ﬁmﬁiﬁiﬁﬁﬁ%@w%waﬁﬁq 4x5
(a) ‘T SrEiHE T Ve g # st HIR | Ka
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